Validate	Print	Help	Percentage Bo0
----------	-------	------	----------------

Tender Inviting Authority: Staff Officer(Civil), NK Area.

Name of Work: Repair of Boundary Wall damaged due to heavy Rain of V.T.C NK Area Under GM Unit,NK Area.

		Category of Bidder(To Be Selected by Bidder)	To Be Entered by Department		
ITC Available	Works Contract	Bidder's Status (Mandatory)	Rate of GST (in %)	GST to be Paid By Bidder (in Rs.)	GST to be Paid By CIL/Subsidiary (in Rs.)
Name of the Bidder/ Bidding Firm / Company :		Select	18.00	0.00	0.00

PRICE SCHEDULE

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

NUMBER #	TEXT #	NUMBER #	TEXT #	NUMBER	NUMBER #	TEXT #
SI. No.	Item Description	Quantity	Units	Estimated Rate in Rs. P	TOTAL AMOUNT in Rs. P	TOTAL AMOUNT In Words
1	2	3	4	5	6	7
1	Demolishing lime concrete manually/ by mechanical means and disposal of material within 50 metres lead as per direction of Engineer-in-charge.Nominal concrete 1:3:6 or richer mix (I/c equivalent design mix)	1.51	cum	1412.4	2132.72	INR Two Thousand One Hundred & Thirty Two and Paise Seventy Two Only
2	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level in all shapes and sizes in :Cement mortar 1:6(1 cement: 6 coarse sand)	2.66	cum	6494.75	17276.04	INR Seventeen Thousand Two Hundred & Seventy Six and Paise Three Only
3	Half brick masonry with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level.Cement mortar 1:3 (1 cement :3 coarse sand)	48.91	sqm	802.35	39242.94	INR Thirty Nine Thousand Two Hundred & Forty Two and Paise Ninety Four Only
4	12 mm cement plaster of mix :1:6 (1 cement: 6 fine sand)	109.65	sqm	217.7	23870.81	INR Twenty Three Thousand Eight Hundred & Seventy and Paise Eighty One Only
5	Finishing walls with water proofing cement paint of required shade :New work (Two or more coats applied @ 3.84 kg/10 sqm)	109.65	sqm	74.7	8190.86	INR Eight Thousand One Hundred & Ninety and Paise Eighty Six Only
6	Structural steel work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	1181.10	kg	92.55	109310.81	INR One Lakh Nine Thousand Three Hundred & Ten and Paise Eighty Only
7	Providing and fixing precoated galvanised iron profile sheets (size, shape and pitch of corrugation as approved by Engineer-in-Charge) of total coated thickness 0.50mm (base metal of minimum 0.45mm thickness with total coating thickness of 0.05mm) with zinc coating 120 grams per sqm sper IS: 277, in 240 mpa steel grade, 5-7 microns epoxy primer on both side of the sheet and polyester top coat 15-18 microns. Sheet should have protective guard film of 25 microns minimum to avoid scratches during transportation and should be supplied in single length upto 12 metre or as desired by Engineer-in- charge. The sheet shall be fixed using self drilling /self tapping screws of size (5.5x 55 mm) with EPDM seal, complete upto any pitch in horizontal/ vertical or curved surfaces, excluding the cost of purilins, rafters and trusses and including cutting to size and shape wherever required.	38.25	sqm	571	21840.75	INR Twenty One Thousand Eight Hundred & Forty and Paise Seventy Five Only
8	CARRIAGE OF MATERIALS By Mechanical Transport including loading,unloading and stacking Excavated rock Lead - 5 km	11.32	cum	336.15	3805.22	INR Three Thousand Eight Hundred & Five and Paise Twenty Two Only
9	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level :1:2:4 (1 Cement : 2 coarse sand (zone-III) derived from natural sources : 4 graded stone aggregate 40 mm nominal size derived from natural sources)	1.51	cum	6171.1	9318.36	INR Nine Thousand Three Hundred & Eighteen and Paise Thirty Six Only

10	Total impact of GST for the purpose of CTC	1.000	Nos	0.00	0.00	INR Zero Only
Total in Figures					234988.49	INR Two Lakh Thirty Four Thousand Nine Hundred & Eighty Eight and Paise Forty Nine Only
Quoted Rate in Figures			Select		0.00	INR Zero Only
Quoted Rate in Words		INR Zero Only				